® 3.15, 3.15 @ 3.15, 0.315 ® 3.15, 31.5
@ 315,315 @31.5, 0.315
AR L3159 10H§¢I 31.50]1

1
FAA [ [E3159 15 Qo31501ek.




Wl b YRS $E SHUR £ AS N2A .

2076-]  |-2078-] |-2.08

@ 2.065,2.085 @2.077,2.079 ® 2.077,2.089

@ 2.087,2.089 ® 2.067,2.069

B

2.076 7} 2.078 2] x}0]7}0.002 0] 22 0.001 4 FHolAl APt
AR [ | =2.076 + 0.001 = 2.077

SHA [ ]=2.078+ 0.001 = 2.079




[ Jtol Solg Fwre 58 Aoz AL AL 1240
0.002 0.002
e 4 24

@® 1.511,1.531 @ 1.421,1.621 ® 1.52,1.522

@1.519, 1.523 ® 1.516,1.526

A [ ]=1.521-0.002 = 1.519
AR [ ] =1.521 4 0.002 = 1.523

e

1




A} 2o g o Hol Al Alo] ¥ 71

Hul 2706 — 2.711 — 2.716 — 2.721

3419-3424-[  |-[ |

@© 3.425, 3.429 @ 3.426, 3.43 ® 3.427, 3.431

@ 3.428, 3.433 @3.429, 3.434

Hulo|7} HolA A= F21L 0.005 A Hoj A A= 21Ut
wrebA] 3.419 FE 0.005 A 2 2 FH oA AH
3.424 , 3.429 , 3.434 Ut}




< <F <F < <
[y W R
me me e §e

ma
Rl v v

gmmwmm
ey
<o oo o o
R R AR
P
R

(1) 0.5

ul
RO

A

(2)0.3

ul
RO

(3)0.9

ul
KO

(4)0.2

ull
KO

(5) 0.8

ull
KO

1)0.3+02=05
2)0.2+0.1=0.3
3)0.4+0.5=09
4)0.1+0.1=0.2
50.74+0.1=0.8




03+ =[]

T~
7’

- ~

(2) 4 | N7 ! ! A |

—

|l T T 1 T T : T : T
0 0.1 0.2 03 04 05 0.6 0.7 0.8 0.9

- - - <
} ! ! ! P a7 ! A

0 01 02 0.3 04 05 06 07 0.8 0.9
0.6+ =[]
s -TT=<

(4) L \*u//l Ay ! |

I T T T T T T : : :
0 01 0.2 03 04 05 06 0.7 08 0.9

! [ Vi [ ] !

|l : T T 1 { : T T T
0 01 0.2 03 04 05 06 0.7 08 0.9

04+ =[]

o

v v vV Vv VvvyvVvyVvVvyywyy
0
i

=i
(1) 0.3,0.6
HE D (205,07
HE D (3)0.3,09
HMEFD (4)0.3,04
HeFD (5)0.4,0.8

B

(1) 0.3+0.3=0.6
(20.2+05=0.7
(3)0.64+0.3=0.9
4)01403=04
(5)04+04=08




1

0 0.1 0203 04 0.50.60.70.80.9

0.5

ull
KO

A

0.8

‘ 0.34+0.5=0.8




2 Agolsk gelr g sha 1% BYYLh 1097} 1120
Aele B5F % kmYy7H?
=

G [ 2d A (km) [ G4 | 2942 (km)
9ol 0.2 11 0.6
109 0.7 12< 0.4

> = km

ztgol7t 10 Lol @3 A+ 0.7km ©]2L
11 dof @9 #2]= 0.6km ©]t}.

uhabA Zkgdol7) 10 L3t 11 Lofl 2 A=
0.7+ 0.6 = 1.3(km) o]t}




